[ > W= (XY, 2) —In( x2+y2+z
| > X = (r,8) —>r-exp(s)-sin(r) :
| > y = (I, S) —>Tr-exp(s)-cos(r) :
[ > Z:= (I, S) —>r-exp(s) :
> diff (w(x(r,s), y(r,s),z(r,8)), I);
(es)zsm 2421 (e ) cos(r)®>+2r (e )2
i rz(es) sin(n?+1r* (e )cos 247 (e )
[ > simplify(%);
2
| r
> D[l]( [)§>(< 3/(2) . D[1](x)(r,s) +D[2](W) (X, Y,2)-D[1](y)(r,s) + D[3](W) (XY, z)
z
2x(essm( )+re cos(r)) 2y (e cos(r) —re’sin(r)) 27¢€°
2.2, 2 T2 2 2
X4y + 7 X +y +1z X +y +17

=> eval(%, [x:x(r,s),y:y(r,s) Z= z(r s)1);

2re’sin(r) (e°sin(r )—|—re cos(r

2 re’cos(r) (escos(r) —reé’sin(r))

rz(es)zsin(r)2+r2( )cos +r2(es) r2(es')2sin(r)2
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2r (e )
+ 2
i P (&) sin(n?+ 1 (e ) cos(r
[ > simplify(%)
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